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%?( j(%?, 5 6 2 3 1 1 1 2 1 5 1 1 2
LS (E] 13 1 13 6 2 1 6 4 2 3 2 1 9 2 5 1 5 1 1
Fj#r‘/iﬁ\ﬁ 11 1 14 2 3 1 5 2 2 6 1 8 1 4 2 1 3
%ﬁﬁ? 1 1 1 1 1 1
/E‘§+ 361 10| 461 441 113 58| 149 41 27 17 152 69 25 33| 307 10 67 71 63 99 34 19




(D AL S S 7 N 7

2 2H K
K4y G 4 4 Gl % i % EE )
seg . |HETA O4E | SR | sk | iR | 26F | S14E | mumik| MR | 24F | S14E | sk | Mk | 24F | 314E | mik| sieik | 24F | S14E | M| ek
Roywpdge | Rah 97 97 1 1 6 6 111 111 117|117
KRR Koy 56 44 12 27.3 5 1 4 400.0 68 59 9 15.3 73 60 13 21.7
KAy 38 51 -13| -25.5 1 1| 100.0 3 7 -4 -57.1 46 52 -6| -11.5 49 59 -10] -16.9
Koy HAR T 4 8 -4 -50.0 2 -2 -100.0 6 6 6 8 -2 -25.0
7t 42 59 -17] -28.8 1 1| 100.0 3 9 -6| -66.7 52 58 -6| -10.3 55 67 -12| -17.9
llis) BT 41 72| -31f -43.1 2 2 200.0 6 8 -2 -25.0 50 791 29| -36.7 56 87 -31| -35.6
H HyAT 7 6 1 16.7 9 9 9 9
Free | Mg 3 4 -1 -25.0 3 3] 300.0 2 5 -3 -60.0 5 5
7t 10 10 3 3] 300.0 11 14 -3 214 14 14
ESpZsans 3 6 -3 -50.0 4 8 -4 -50.0 4 8 -4 -50.0
ER EN=y o)
# 3 6 -3 -50.0 4 8 -4 -50.0 4 8 -4 -50.0
B4 H B mm 3 9 -6| -66.7 1 1| 100.0 10 -7 -70.0 10 -7 -70.0
Fi AT 20 17 3 17.6 1 1  100.0 4 2 2| 100.0 21 16 5 31.3 25 18 7 38.9
i HEETH 27 27 1 1| 100.0 35 34 1 2.9 37 35 2 5.7
JUEERT 3 5 -2|  -40.0 1 1| 100.0 11 -7 -63.6 4 11 -7  -63.6
/87N EAERHT 6 1 20.0 1 -1 -100.0 9 4 5]  125.0 5 4 80.0
# 9 10 -1 -10.0 1 1| 100.0 1 -1| -100.0 13 15 -2|  -13.3 13 16 -3| -18.8
A H A A 18 16 2 12.5 4 2 2] 100.0 20 18 2 11.1 24 20 4 20.0
rH YT 5 6 -1 -16.7 1 1 100.0 1 [ 100.0 5 8 -3 -375 6 8 -2 -25.0
XN - < PN ] 5 13 -8 -61.5 2 6 -4 -66.7 4 15 -11| -73.3 6 211 -15| -71.4
A (= 13 14 -1 -7.1 1 1 6 1 5| 500.0 7 17| -10| -58.8 13 18 -5 -27.8
HA R 3 7 -4 -57.1 1 3 -2|  -66.7 5 4 1 25.0 6 7 -1 -14.3
FIMFEEAR R 8 13 -5| -38.5 1 1| 100.0 1 1 7 14 -7l -50.0 8 15 -7 -46.7
7 11 20 -9 -45.0 1 1| 100.0 2 4 -2|  -50.0 12 18 -6| -33.3 14 22 -8| -36.4
/N 7 360 420 -60] -14.3 10 2 8  400.0 44 41 3 7.3 416 480| -64| -13.3| 460 521 -61] -11.7
AR B 1 4 -3 -75.0 1 8 -7 875 1 8 -7 875
= g 361 424 -63] -14.9 10 2 8|  400.0 44 41 3 7.3 417 488| -71| -14.5| 461 529 -68] -12.9




T AR 2 A A A PR S TS 26 T O F s AR
[ —43] BF0 24 2H K
K4y G 4 4 Gl % i % EE )
seg . |HETA O4E | SR | sk | iR | 26F | S14E | mumik| MR | 24F | S14E | sk | Mk | 24F | 314E | mik| sieik | 24F | S14E | M| ek
Ko [Rom 16 13 3 23.1 1 1| 100.0 20 13 7 53.8 22 14 8 57.1
KW Koy 1 2 -1 -50.0 1 2 -1l -50.0 1 2 -1 -50.0
KAy 5 4 1 25.0 1 1| 100.0 2 -2| -100.0 4 3 1 33.3 4 5 -1|  -20.0
Koy HAR T 1 1| 100.0 1 1  100.0 1 [ 100.0
7t 6 4 2 50.0 1 1| 100.0 2 -2| -100.0 5 3 2 66.7 5 5
llis) BT 3 6 -3 -50.0 [ 100.0 3 6 -3 -50.0 4 6 -2  -33.3
H HyAT
PSR (HREET 1 -1| -100.0 1 -1| -100.0 1 -1| -100.0
7t 1 -1| -100.0 1 -1| -100.0 1 -1| -100.0
ESpai 1 1 1 1 1 1
EShz UEN=Y o)
EH) 1 1 1 1 1 1
Bt H B mm 2 1 1| 100.0 1 1| 100.0 1 1 1 1
Fi AT 3 1 2| 200.0 4 1 3] 300.0 4 1 3] 300.0
i HE T 1 4 -3 -75.0 1 7 -6| -85.7 1 7 -6| -85.7
JUEEHT
IR EAERRT
7t
A H A A 1 1 1 -1| -100.0 2 2| 200.0 2 1 1| 100.0
T H YT
2 N - < PN 1 3 -2|  -66.7 1 3 -2|  -66.7 1 3 -2|  -66.7
LB vefarh 1 -1 -100.0 1 -1 -100.0 1 -1 -100.0
HA R
FIRFERAR |
/N 7 39 42 -3 -7.1 2 2| 200.0 5 -2|  -40.0 43 42 1 2.4 46 47 -1 -2.1
e
= g 39 42 -3 -7.1 2 2| 200.0 5 -2|  -40.0 43 42 1 2.4 46 47 -1 -2.1
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S A % S M B ] 1 < i 8 AR DL

S 24 28 K
[
A EZ 0~1 | 1~2 | 2~3 | 3~4 | 4~5 | 5~6 [ 6~7 | 7~8 | 8~9 | 9~10 | 10~11| 11~12| 12~13 | 13~14| 14~15] 15~16| 16~17| 17~18 [ 18~19 [ 19~20 | 20~21 | 21~22 | 22~23 | 23~24 &
B
P 1 1 2
P 1 1 2 1 1 2 8
FEELH H 1 1 1 3
BIEE 1 1 2 4
10 [Kors 1 1 2 1 2 1 2 1 1 1 13
e 1 2 1 1 1 2 1 1 1 11
L PN g
FAFFREEA R
ER ] 1
A &h 1 1 4 1 3 1 3 6 4 1 3 5 3 2 1 1 1 1
LR PN g
5:,7 TrH 1 1 1
~ N 1 1 1
197 ﬁc?{rh% 1 2 2 1 1 1
= Koy H _ 1 2 1 2 2 1 4 2 1 1
A Eh 2 2 2 1 2 2 1 6 3 2 1 1
Kok 1 1 1 2 1
KOvE 1 1 2
2.10 IR 1 1 1 1 1
7 [am 1 1 1 1
i 1 1 1 1 1 2 2 3 3 2 1 1
211%|HH
P
2i2 H H 1 1 1 3
T E 1 1 1 3
FREEH Y 1 1 2
EES 1 1 1 3
213 [&%mH 2 2
5|5k
P 1 1 2 1 2 2 1 10
i 3 3 3 1 2 4 1 17
Ko H
217 [H¥rHAR 2 1 1 1 1 6
7| 1 1 1 3
i 1 2 1 1 1 2 1 9
3926 R RE 1 1 2
= ERE] 1 1
A &h 1 1 1 3
386% | HH 1 1 1 1 1 1 6
P 2 1 1 4
387 [k
R EE
i 2 1 1
3885 |14 1




o2 2H K

S A % S M B ] 1 < i 8 AR DL
53

il 0~1 1~2 2~3 3~4 4~5 5~6 6~7 7~8 8~9 [ 9~10 | 10~11| 11~12| 12~13 | 13~14 | 14~15| 15~16 | 16~17 | 17~18 | 18~19 [ 19~20 [ 20~21 | 21~22 | 22~23 | 23~24

PN S

Ko 2 1

BHEAY

Y
k={108

[ L

A & 2 1 1

=
s

BIEF 1 1

FrEE B

T

i

A Eh 1 1

EIATHEA R

B 1

TrH

A Ef 1

Kok 1 1

Ko H 1 1 1 1 2 1

Royee 1

BIE 2 1 1 1

FrEE B

EH

BkmHA 1

e 1 2

P 1 1 1 1

Ik S 6 HE

RER

HH

i

B

#efn 1

FIFFEEA R

A Eh 1 1 1 3 3 1 2 3 1 1 2

o | f— | =
—
—
—
—

Kok 1 2 2 1 2 4

KA H 1 1 1 1 1 1 1

KOvE 1 1 1 1

BIF 1 1 1 1 1 1

FREEH 1 1

EH

Bt

T

P 1 1

ER =3

R

HH 1 1

i

B

i

FIFFEEA R 1

A &h 1 3 2 1 2 2 1 5 1 2 5 2 3 6 3 2 1
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S A % S M B ] 1 < i 8 AR DL

A2 2H K
[
5 E:EE 0~1 | 1~2 | 2~3 | 3~4 | 4~5 | 5~6 [ 6~7 | 7~8 | 8~9 | 9~10 | 10~11| 11~12| 12~13 | 13~14| 14~15] 15~16| 16~17| 17~18 [ 18~19 [ 19~20 | 20~21 | 21~22 | 22~23 | 23~24 & 3
e
KoyHge 1 5 3 4 4 1 3 4 2 3 1 4 6 3 2 3 1 50
Ko H 2 2 1 3 1 1 2 4 6 2 1 25
PNl 2 2 1 1 1 2 1 2 2 3 1 1 19
BURE 1 1 1 1 2 2 3 1 2 2 5 1 1 1 24
| 1 1 1 3
U £
N T
b EET 1 1 1 2 5
© A 2 1 1 1 1 1 1 1 9
JA |3k 1 1 1 1 4
B EE 1 1 1 3
% |rrm 1 1
BERE 1 1 2
JEs(E] 1 1 1 1 4
FAFFREEA R 1 1 1 3
A &F 1 1 1 2 14 12 8 7 12 7 8 8 11 10 18 13 7 6 4 1 1 152
e JHE P 1 1
B & E
22 E K
& it 1 1 2 2 2 12 31 19 17 14 26 31 20 16 27 25 41 33 15 12 7 4 3 361
B3 2 1 3 1 2 10 35 33 21 20 25 17 23 26 31 27 41 43 29 20 6 3 5 424




7% HCE AR

=
oS24 2H K
%4 % e * L % B % B & Ef

g ] 2HF | S14F Ml Mk | 24F | S1AFE [Muiite| kR | 24F | S14F (M| salsisR | 24F | S14F Mk waisk | 24F | S14F [mamdcde] smwix
Koy 38 51| -13| -25.5 1| -1|-100.0 50| 65| -15| -23.1| 50| 66| -16| -24.2
NG 32 25 71 28.0 48| 30l 18| 60.0[ 48] 30| 18 60.0
KO 14| 24| -10| -41.7 1 1 21 30| -9| -30.0] 22| 31| -9| -29.0
VS 13| 30| -17| -56.7 18| 40| -22| -55.0| 18| 40| -22[ -55.0
FFEER H 3 6] -3| -50.0 10l -5| -50.0 10l -5| -50.0
ESp 3 3 4 4 4 4

SeEH 2 1 1| 100.0 2| 200.0 1 2| 200.0
FA 8 8 11 9 2| 222 11 9 2| 22.2
HEE 14 14 21| 19 2| 10.5] 21| 19 2| 10.5
R 2 3| -1| -33.3 4 4 4 4

Bt 9 5 4] 80.0 14 5| 55.6] 14 5| 55.6
v H 3 2 1| 50.0 4 3 1| 333 4 3 1| 333
YN i 1 41 -3 -75.0 1 1| 100.0 41 -4{ -100.0 1 41 -3 -75.0
PEAA 3 8] -5| -62.5 1 1| 100.0 3| 13| -10] -76.9 4 13| -9| -69.2
FIFFEL A AL 6 8| -2 —25.0 1 1| 100.0 71 10 -3| -30.0 71 10 -3| -30.0
R % 1 4 -3 -75.0 1 8| -7| -87.5 1 8| -7| -87.5
aEt 152 196| -44| -22.4 1 1| 100.0 3 2 1| 50.0{ 214| 259| -45| -17.4| 217| 261| -44| -16.9
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HREN B fin O HEECRARN
oS24 2H K
%4 % e * L % B % B & Ef
e gg ] 2HF | S14F Ml Mk | 24F | S1AFE [Muiite| kR | 24F | S14F (M| salsisR | 24F | S14F Mk waisk | 24F | S14F [mamdcde] smwix
NGRS 171 211 4| -19.0 1 1 16| 20| -4| -20.01 17[ 21| -4 -19.0
NG 7 1 6| 600.0 1 1| 100.0 5 1 4| 400.0 6 1 5| 500.0
KR53 9 5 80.0 9 5 80.0 5 4] 80.0
VS 2 71 5| -71.4 2| -2|-100.0 2 5 -3| -60.0 2 7| -5 -71.4
FFEER H
ESp
SeEH 1| -1|-100.0 1| -1] -100.0 1| -1] -100.0
Ak 3 2 1l 50.0 1 1| 100.0 2 2 2 2
e 3] -3] -100.0 1| -1|-100.0 2| -2| -100.0 3] -3] -100.0
/RS
HH 1 1 1| -1]-100.0 1 1| 100.0 1 1
YT H
YN i 1 1 1| -1] -100.0 1 1| 100.0 1 1
{uX[8] 1 1 1 1 1 1
FIFFEL A AL 1 5| -4| -80.0 1 1| 100.0 2| -2| -100.0 3] -3] -100.0 5| -5| -100.0
R %
Bt 421 48] -6| -12.5 2 2| 200.0 2 8] -6| -75.0 37| 4o -3 -7.5| 39| 48] -9| -18.8
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TREN] | W B FMEARD
R 1365 LAk
oS24 2H K
%4 % e * L % B % B & Ef

e gg ] QHF | S14F Ml Mk | 24F | 314 [Muiite| bk | 24F | S14F [Mamcks| MR | 24F | S14F Mk saisk | 24F | S14F [mamdde] smig
Koy 371 28 9| 32.1 1 1| 100.0 2 2 18] 13 5/ 38.5 20| 15 5| 33.3
NG 19] 10 9] 90.0 2 2| 200.0 9 5 125.0[ 11 4 7| 175.0
KO 16| 21| -5 -23.8 1 1| 100.0 4] -4| -100.0 6 -3| -33.3 6] 13| -7| -53.8
VS 15| 26| -11| -42.3 2 2 8| 13| -5| -38.5| 10| 15| -5 -33.3
FFEER H 6 5 1| 20.0 2 2| 200.0 1 1 3 1 2| 200.0
5B 2| -2|-100.0 1| -1|-100.0 1| -1]-100.0
SEEH 1 71 -6 -85.7 1 1| 100.0 2| -2|-100.0 2| -2[-100.0
FAE 12 9 3| 33.3 1 1| 100.0 3 2 1| 50.0 5 3 2| 66.7 8 5 3| 60.0
HEE 11 10 1 10.0 1 1 3 5/ -2 -40.0 4 6] -2| -33.3
R 3 6] -3| -50.0 1 1| 100.0 1| -1]-100.0 2 4 -2 -50.0 2 5 -3| -60.0
HH 7 9] -2 —22.2 3 1 2| 200.0 3 8] -5| —-62.5 6 9] -3| -33.3
v 3 3 1 1| 100.0 1 1| 100.0 2| -2|-100.0 1 2| -1 -50.0
YN i 2 71 -5 -71.4 2 5/ -3 -60.0 2| -2[-100.0 2 71 -5 -71.4
PEAf 10 7 3| 42.9 1 1 5 1 4| 400.0 2 4 -2 -50.0 7 5 2| 40.0
FIFFEL A AL 5/ 10| -5| -50.0 2 2| 200.0 4 5| -1| -20.0 6 5 [  20.0
R % 1| -1]-100.0 1| -1|-100.0 1| -1]-100.0
aEt 147 161 -14| -8.7 7 1 6| 600.0[ 25| 19 6| 31.6] 61| 77| -16| -20.8] 86| 96| -10| -10.4
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Ak

s A EE (51M) EEORERN
EEEIX65F LA I
[ElE 14 B H O ERE] SR 28 2R K

%4 a8 éﬁ 9 = H & [ 23 & FPEE:

gz ] 24F | S14F |madelite] s | 24F | S14F [mamdidk]| s | 24F | 314F |Hwdcke| sdcr | 24F | S14F |madslite] s | 24F | 314F [ty s
Ko7 Hk 20 17 3] 17.6 1| -1f-100.0 1| -1]-100.0
KT H 13 7 6| 85.7
KT 131 10 3] 30.0 1 1| 100.0 1 1| 100.0
BRF 15 -7 -46.7 1 1| 100.0 1 1| 100.0
FrEE B 4 4
[E] 3R 1l -1]-100.0
Bt mH 6| -6/ -100.0
S 6 6 1l -1]-100.0 1l -1]-100.0
FRHE 8 7 1| 14.3
Ak 3 3 1 1| 100.0
H M 4 51 -1 -20.0 1 1| 100.0 1| -1]-100.0 1 1
1 2 2 1 1| 100.0 1 1| 100.0
B K 1 71 -6| -85.7 3] -3[-100.0 1| -1]-100.0 41 -4{ -100.0
(=t 7 6 1l 16.7 1 1| 100.0
FAMFEE R 3 71 -4 -57.1 1 1| 100.0 1 1| 100.0
R
&t 92 103| -11| -10.7 2 21 200.0 4 51 -1 -20.0 1 2l -1 -50.0 5 71 -2 -28.6
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SR B 2 A PR B P O FH MO AR

[FF—2F#] a2 2H R

%4 % e * L % B % B & Ef
e gg ] 2HF | S14F Ml Mk | 24F | S1AFE [Muiite| kR | 24F | S14F (M| salsisR | 24F | S14F Mk waisk | 24F | S14F [mamdcde] smwix
Koy 16| 13 3] 23.1 2 1 1| 100.0f 20[ 13 7| 53.8] 22| 14 8| 57.1
NG 1 2| -1f -50.0 1 2| -1| -50.0 1 2| -1 -50.0
Ro3rd 6 4 2| 50.0 1 1| 100.0 2| -2| -100.0 5 3 2| 66.7 5
VS 3 6] -3| -50.0 1 1| 100.0 3 6| -3| -50.0 4 6| -2| -33.3
FFEER H 1| -1] -100.0 1| -1] -100.0 1| -1] -100.0
ESp 1 1 1 1 1 1
SeEH 2 1 1| 100.0 1 1| 100.0 1 1 1 1
FAE 3 1 2| 200.0 4 1 3| 300.0 4 1 3| 300.0
e 1 4] -3| -75.0 1 71 -6| -85.7 1 71 -6| -85.7
/RS
HH 1 1 1| -1]-100.0 2 2| 200.0 2 1 1| 100.0
YT H
YN i 1 3] -2 -66.7 1 3] -2 -66.7 1 3] -2 -66.7
PEAA 1| -1|-100.0 1| -1]-100.0 1| -1]-100.0
FIFFEL A AL 4 4 4 4 4 4
R %
Bt 39 42| -3 -7.1 2 2| 200.0 3 5| -2| -40.0] 43| 42 1 2.4 46| 47| -1| -2.1
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